

(317)477-4430 (Fax) 477-4431

9/26/2023

**Rescue Equipment Quotes** 

The rescue equipment quotes were broken up in to equipment sections based on the manufacturer. Vendors were not required to bid every section because some of them do not represent certain manufacturers.

represent cert	alli illallulacture		NALICTANIC	NRS	WENDY
BIDDER Hoosier Fire	CMC No quote	PETZL No quote \$319.80	MUSTANG \$13,524.00 \$10,376.70	\$462.00 No quote	No quote No quote
Dinges Fire Macqueen	\$8,041.70 \$7,595.00	No Quote	\$11,144.51	No Quote	No Quote

Based on the quotes received that are in the above chart, I would request the following quotes be awarded to the low bidders for each equipment manufacturer group:

Hoosier Fire – NRS \$462.00 Dinges Fire – PETZL \$319.80 & MUSTANG \$10,376.70 Macqueen – CMC \$7,595.00

**TOTAL EXPENSE - \$18,753.50** 

Respectfully,

Jason Horning

### **QUOTE COVER SHEET**

#### New, Technical Rescue Equipment

Pursuant to the request for quotes, the undersigned has investigated the conditions affecting the cost of the proposed equipment, and understanding the requirements set forth in the specifications prepared by the Greenfield Fire Department, hereby proposes to provide and furnish all labor, materials, & supplies unless otherwise specified, and necessary equipment as required by said specifications, including any and all addenda now on file in the office of the Clerk-Treasurer of the City of Greenfield, Indiana.

Each equipment section will be recognized on this form with a price for that group. Any vendors who do not wish to quote on any section, for whatever reason, shall write the words "NO QUOTE" in the price line for that group of equipment. Vendors are not required to quote on every section. All quotes shall include all delivery costs of delivering the equipment to our facility.

Equipment Section	Total Quote Price Including Delivery
I. CMC	s 7,595
II. PETZL	s No Quote
III. MUSTANG	<u>\$11,144.51</u>
IV. NRS	s No Quote
V. WENDY	s NO Quote
	\$ _ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \

TOTAL EQUIPMENT QUOTE:

\$ 18,739.51

Receipt of addenda nos.  No Addendum Requ	is hereby
Respectfully Sybmitted, Corey Johnson	
Dated: 9/11/2633 Vendor (individual, partnership or corporation)	
By: Mac Queen Emergency	
Legal Status:	
Address: 350 Austin Circle	
Delofield W. 53018	

N 1 A

**NOTE:** The legal status of the vendor, whether as an individual, partnership or corporation, must be indicated above; and all pertinent information as required by the specifications must be furnished.

All Equipment quotes shall be returned by 1600 hrs on September 11<sup>th</sup> 2023 to:

Greenfield Clerk-Treasurer Lori Elmore Attn: Fire Dept Quote 10 S. State St. Greenfield, IN 46140



350 Austin Circle Delafield, WI 53018 (262) 646-5911

Fax: (262) 646-5912

Ship To: GREENFIELD FIRE DEPT
17 W SOUTH STREET

GREENFIELD, IN 46140-2330

Invoice To: GREENFIELD FIRE DEPT

17 W SOUTH STREET

PO BOX 456

GREENFIELD IN 46140-2330

Attention: SCOTT ELLIOTT

Branch					
16 - DELAFII	ELD, WI				
Date	Time			Page	
08/30/2023	13:	40:05	(0)	1	
Account No Phone No		)		Est No 01	
GREEN082 317		4774430 013425		013425	
Ship Via		Purchase	Order		
BEST & ADD		CMC ITEMS			
Tax ID No					
			Sales	sperson	
				323 / 337	

ESTIMATE EXPIRY DATE: 09/29/2023

	DOTE - UNDER ACK	OWLEDGEM	CIN I	
Part#	Description U	Qty	Price	Amount
	CMC EZ BEND 1/2	300	1.46	438.00
CMC 1/2" STATIC-PRO LIFELINE PER FOOT, RED	ROPE,			
281202	CMC 1/2" STATIC	300	1.46	438.00
CMC 1/2" STATIC-PRO LIFELINE PER FOOT, BLUE	ROPE,			
281201	CMC 1/2" STATIC	300	1.46	438.00
CMC 1/2" STATIC-PRO LIFELINE PER FOOT, ORANGE	ROPE,			
281207	CMC 1/2" STATIC	300	1.46	438.00
CMC 1/2" STATIC-PRO LIFELINE PER FOOT, YELLOW	ROPE,			
201020	CMC ANCHOR STRA	4	96.00	384.00
CMC ANCHOR STRAP, BLUE				
441103	CMC RIGTECH PAC	1	224.00	224.00
CMC RIGTECH PACK - RED		_	400.00	
300430	CMC SWIVEL PULL	6	122.00	732.00
CMC SWIVEL PULLEY 300432	CMC PULLEY SWIV	3	136.00	400 00
CMC PULLEY SWIVEL DOUBLE	CMC FULLEI SWIV	3	130.00	408.00
300090	CMC CARABINER	20	25.50	510.00
CARABINER, PROSTEEL SCREW-LO		20	23.30	310.00
BLK/BRZ, CMC				
382121	CMC MAILLON RAP	12	20.00	240.00
CMC MAILLON RAPIDE QUICK LIN	K			
DELTA II GAL STEEL				
500104	CMC SYSTEM, AZTE	2	459.00	918.00
CMC SYSTEM, AZTEK PRO				
333000	CMC RESCUE MPD	2	834.00	1668.00
CMC RESCUE MPD, 13MM RED DOM MARCH 2022				
432033	CMC MPD STORAGE	2	23.00	46.00
CMC MPD STORAGE BAG, RED				

Return/Exchange Policy

Returns/Exchanges are accepted within 30 days of the purchase date on stock items in original, re-sellable packaging, with tags. No writing is allowed on the packaging. Please contact our Inside Sales Support Team at 800-615-6789 for a Return Authorization Number. A copy of the Return Authorization Form should accompany the return. We will not accept returns without a Return Authorization Number. A credit will be issued after a full product inspection is complete on an eligible return. Returns are subject to a 25% restocking fee, which we may waive for exchanges. Purchaser is responsible for freight. Unfortunately, all special orders, custom items, and SCBA cylinders are non-returnable. Other restrictions may apply. MacQueen Emergency reserves the right to refuse returns not received in the 30-day return period.



350 Austin Circle Delafield, WI 53018 (262) 646-5911

Fax: (262) 646-5912

Ship To: GREENFIELD FIRE DEPT

17 W SOUTH STREET

GREENFIELD, IN 46140-2330

Invoice To: GREENFIELD FIRE DEPT

17 W SOUTH STREET

PO BOX 456

GREENFIELD IN 46140-2330

Attention: SCOTT ELLIOTT

Branch					
16 - DELAFI	ELD, WI				
Date	Time			Page	
08/30/2023	13:	40:05	(0)	2	
Account No	Phone No			Est No 01	
GREEN082	317	3174774430		013425	
Ship Via		Purchase Order			
BEST & ADD		CMC ITEMS			
Tax ID No					
			Sales	sperson	
				323 / 337	
DOMENNAME DV	DIDIZ DA	mr. oc	1201	2022	

ESTIMATE EXPIRY DATE: 09/29/2023

	QUOTE - ORDER ACK	NOWLEDGEMI	ENT	
Part#	Description U	Oty	Price	Amount
292957	CMC RESCUE SRT	25	1.10	27.50
CMC RESCUE SRT THROWLINE 3/8 292957	CMC RESCUE SRT	25	1.10	27.50
CMC RESCUE SRT THROWLINE 3/8	3			_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
292957 CMC RESCUE SRT THROWLINE 3/8	CMC RESCUE SRT	50	1.10	55.00
292957	CMC RESCUE SRT	50	1.10	55.00
CMC RESCUE SRT THROWLINE 3/8 341103 CMC ASCENDER, RED, CMC	CMC ASCENDER, R	4	97.00	388.00
FRT	SHIP & HNDLING	1	160.00	160.00
MSD57602-251-L-101	DRY SUIT	6	1409.24	8455.44
IC9001-03 MUSTANG ICE COMMANDER RESCUE	ICE COMMANDER	3	844.69	2534.07
POL-1 PICK OF LIFE ICE PICK	PICK OF LIFE IC	3	N/A	N/A
FRT	SHIP & HNDLING	1	155.00	155.00
			Subtotal:	18739.51
			Tax:	.00
Authorization:			TOTAL:	18739.51

#### Return/Exchange Policy

Returns/Exchanges are accepted within 30 days of the purchase date on stock items in original, re-sellable packaging, with tags. No writing is allowed on the packaging. Please contact our Inside Sales Support Team at 800-615-6789 for a Return Authorization Number. A copy of the Return Authorization Form should accompany the return. We will not accept returns without a Return Authorization Number. A credit will be issued after a full product inspection is complete on an eligible return. Returns are subject to a 25% restocking fee, which we may waive for exchanges. Purchaser is responsible for freight. Unfortunately, all special orders, custom items, and SCBA cylinders are non-returnable. Other restrictions may apply. MacQueen Emergency reserves the right to refuse returns not received in the 30-day return period.

### **QUOTE COVER SHEET**

#### New, Technical Rescue Equipment

Pursuant to the request for quotes, the undersigned has investigated the conditions affecting the cost of the proposed equipment, and understanding the requirements set forth in the specifications prepared by the Greenfield Fire Department, hereby proposes to provide and furnish all labor, materials, & supplies unless otherwise specified, and necessary equipment as required by said specifications, including any and all addenda now on file in the office of the Clerk-Treasurer of the City of Greenfield, Indiana.

Each equipment section will be recognized on this form with a price for that group. Any vendors who do not wish to quote on any section, for whatever reason, shall write the words "NO QUOTE" in the price line for that group of equipment. Vendors are not required to quote on every section. All quotes shall include all delivery costs of delivering the equipment to our facility.

Equipment Section	Total Quote Price Including Delivery			
I. CMC	\$8,041.70_			
II. PETZL (Rescusender B50A)	\$319.80			
III. MUSTANG	\$10,376.70_			
IV. NRS	\$ NO QUOTE			
V. WENDY	\$ NO QUOTE			
TOTAL EQUIPMENT QUOTE:	\$18,738.20			

D
Respectfully Submitted,
o Arm I
BUILL V. VALUE No
Bradley V- Laurence
Dated: 09 / 11 / 2023
Vendor, (individual, partnership or corporation)

Receipt of addenda nos. advised no addendum is hereby acknowledged.

By: Bradley V. Lawrence

Legal Status: \_Dinges Partners Group LLC\_ Address: 243 E. Main St

Amboy, IL 61310\_\_

**NOTE:** The legal status of the vendor, whether as an individual, partnership or corporation, must be indicated above; and all pertinent information as required by the specifications must be furnished.

All Equipment quotes shall be returned by 1600 hrs on September 11<sup>th</sup> 2023 to:

Greenfield Clerk-Treasurer Lori Elmore Attn: Fire Dept Quote 10 S. State St. Greenfield, IN 46140



### **Dinges Fire Company**

243 E Main St. Amboy, IL 61310

Phone: 815.857.2000 www.DingesFire.com

#### Bill To:

Greenfield Fire Territory (Greenfield, IN) C\O: Battalion Chief Scott Elliott 17 South State Street Greenfield, IN 46140

## Ship To:

Sleeping Rock Firefighter Supply LLC (Arlington, IN)(C13586) 7600 W 500 NB Arlington, IN 46104

Quantity	Item	Description	Price	Total
300	CMC-281203	ROPE, STATIC-PRO 1/2 RED, CMC	\$1.58	\$474.00
300	CMC-281202	ROPE, STATIC-PRO 1/2 BLU, CMC	\$1.58	\$474.00
300	CMC-281201	ROPE, STATIC-PRO 1/2 ORG, CMC	\$1.58	\$474.00
300	CMC-281207	ROPE, STATIC-PRO 1/2 YEL, CMC	\$1.58	\$474.00
4	CMC-201020	STRAP, VARIABLE ANCHOR, BLU, CMC	\$101.95	\$407.80
1	CMC-441103	PACK, RIGTECH, RED, CMC	\$245.95	\$245.95
6	CMC-300430	PULLEY, PROSWIVEL 1.5", PMP SS, CMC	\$125.95	\$755.70
3	CMC-300432	PULLEY, PROSWIVEL 1.5", DOUBLE, CMC	\$149.95	\$449.85
20	CMC-300090	CARABINER, PROSTEEL SCREW-LOCK D, GRY/BRZ, CMC	\$26.95	\$539.00
12	CMC-382121	QUICK LINK, DELTA 12MM	\$22.95	\$275.40
2	CMC-500104	SYSTEM, AZTEK PROSERIES, CMC	\$485.95	\$971.90
2	CMC-333000	MPD, 13MM RED, CMC	\$875.95	\$1,751.90
2	CMC-432033	BAG, MPD STORAGE BLK, CMC	\$30.95	\$61.90
25	CMC-292957	THROWLINE, SRT, CMC	\$1.75	\$43.75
25	CMC-292957	THROWLINE, SRT, CMC	\$1.75	\$43.75
50	CMC-292957	THROWLINE, SRT, CMC	\$1.75	\$87.50
50	CMC-292957	THROWLINE, SRT, CMC	\$1.75	\$87.50
4	CMC-341103	ASCENDER, RED, CMC	\$105.95	\$423.80
4	Petzl-B50A	RESCUCENDER, cam-style rope grab, NFPA, 10-13 mm,	\$79.95	\$319.80
3	Mustang-IC900103	Ice Commander Suit, 6-Gold - **EXTENDED LEAD TIME**	\$875.00	\$2,625.00
6	Mustang-MSD576	Dry Suit	\$1,291.95	\$7,751.70

* Sales tax will be applied to customers who have not provided a tax exempt certificate.	Sub Total	\$18,738.20
* Quote Created on 09/06/2023. Pricing valid for no more than 30 days, unless noted otherwise.	Shipping	TBD
* Financing options may be available. Please contact your sales rep for more information and a	Total	\$18,738.20
payment estimate.		

<sup>\*\*</sup>This is a quotation only. Please do not make payment based off this quotation. An invoice will be sent to you when product is ready for delivery. Contact your local sales representative with any questions or requests.\*\*

### **QUOTE COVER SHEET**

### New, Technical Rescue Equipment

Pursuant to the request for quotes, the undersigned has investigated the conditions affecting the cost of the proposed equipment, and understanding the requirements set forth in the specifications prepared by the Greenfield Fire Department, hereby proposes to provide and furnish all labor, materials, & supplies unless otherwise specified, and necessary equipment as required by said specifications, including any and all addenda now on file in the office of the Clerk-Treasurer of the City of Greenfield, Indiana.

Each equipment section will be recognized on this form with a price for that group. Any vendors who do not wish to quote on any section, for whatever reason, shall write the words "NO QUOTE" in the price line for that group of equipment. Vendors are not required to quote on every section. All quotes shall include all delivery costs of delivering the equipment to our facility.

Equipment Section	Total Quote Price Including Delivery	
I. CMC	\$_NO QUOTE_	
II. PETZL	\$_NO QUOTE_	
III. MUSTANG	\$_13,524.00	
IV. NRS	\$ <u>462.00</u>	
V. WENDY	\$_NO QUOTE_	
TOTAL EOUIPMENT OUOTE:	\$ 13.986.00	

Receipt of addenda nosacknowledged.	is hereby
Respectfully Submitted,	9
Collin Casstevens	
Dated: 09 / 08 / 2023	
By: Hoosier Fire Equipment	
Legal Status: Partnership	
Address: _3863 N. Commercial Pkwy	
Greenfield IN 46140	

**NOTE:** The legal status of the vendor, whether as an individual, partnership or corporation, must be indicated above; and all pertinent information as required by the specifications must be furnished.

All Equipment quotes shall be returned by 1600 hrs on September  $11^{th}$  2023 to:

Greenfield Clerk-Treasurer Lori Elmore Attn: Fire Dept Quote 10 S. State St. Greenfield, IN 46140



# **QUOTATION**

DATE: September 8, 2023

**QUOTE TO:** Greenfield Fire Territory 17 W. South Street

Greenfield, IN 46140

SALES REP.: Collin Casstevens

EMAIL: ccasstevens@hoosierfire.com

PHONE: (765) 623-3544 FAX: (317) 891-7375

ATTN: Chief Jason Horning

**EMAIL:** jashorning@greenfieldin.org

SHIP: Direct/Best Way

**TERMS:** Net 10 Days **FOB:** Destination

CONDITIONS: QUOTE VALID FOR 30 DAYS UNLESS OTHERWISE NOTED. THE PRICES QUOTED ARE FOR THE SPECIFIC

QUANITIES, STYLES, TERMS AND CONDITIONS AS INDICATED. ANY DEVIATIONS MAY INVALIDATE THIS

QUOTATION.

RETURN POLICY: ANY CUSTOM FIT OR SPECIAL ORDERED ITEMS ARE NON-RETURNABLE. ANY RETURNABLE ITEMS MAY BE

SUBJECT TO A 25% RESTOCKING FEE.

ITEM	QTY	MFG	PART#	DESCRIPTION	EACH	TOTAL
1.	.6	Mustang	MSD576	Mustang Survival Water Rescue Dry Suit	\$1,712.00	\$10,272.00
2.	3	Mustang	IC9001 03	Mustang Survival Ice Commander Rescue Suit	\$1,084.00	\$3,252.00
3.	7	NRS	30029.02	NRS ATB Wetshoe	\$66.00	\$462.00
4.						
5.						
6.						
					QUOTE TOTAL	\$13,986.00

NOTES & COMMENTS:		
a.		
b.		
c.		
d.		
e.		
f.		
QUOTATION PREPARED BY:		
-	Collin Casstevens	